Hrebec

mistni komunikace (asfalt)

867/1

867/185

867/63

867/1

50.00

43.50

44.00

38.00

43.00

33.00

UZEMI

POVRCH UZEMi
PARCELY

VZDALENOST SACHET

NAZVY SACHET

(%] o
S k)
LR :
NS O
S
£ S
= N o =
g R 0 S| 3 '
8 © = S8 g
I S %] ® S £
3 o rs} [
Qo [c) n .
> o [a) ™ — < v
>
N
.
™ -
X 5 . ]
.
<t
°X s . | 0
> =1 ..
< M s 2 2| =
NN T %5 3 c |5
g Y z @ < .. 5 2
o .. P o kel =
Sx|| 82| E|8|o|2|%5|o
g e s 2 2| S| 2 |5|38|=
Q||| o|®n|0|=2]a|0
I
REY
¥ N
R
N~ w
AN
s S
Y
/m +
Q =3
(SIRY
o
S
2 O
2 9 o
S o Q (0]
s 3 o &) m
O > 31 3 a
— g1 > @©
0 | @ ket O N X
8 ¢ 2 o= 2
s X e T s © )
o < o c 1
RE|l S| T D s —
g Z x 5
~ T m
0 O @© Q
. p (O ®] >
= 92 = o > =
O < o m m ]
£ . 2 N e}
N £ T [}
& g O o
W S ©
e EE 2
.. 2 < 5 K
£ = QoS B T
2 < o o] & o
© LY o o [ (]
[a) > = 3 e o
1) > ® T o
= g o
X N © = ..
W £ 0| 5 5|8 .
gl|lg<|2| g ¥ 5
o|lo|lo|<|y £33 o|2| g3 2
> = > > [} I < = £ |N (o]
[V Q [V [V ©
|l ||| £
o
Lo
{ 8Tz — €996 — 1169 —LO og98e
~ 0
™
o
PSL=NQ ‘GLG "d-o - / // ve'e — 989 — 09698  — 00'T8E
051=NQ ‘06% *d"2 o'z —  LTL9E  — 25698 — 0z'LLE
°
HE gl |=
2|8 3 9
- W v ~
B 8 o
3 = 2
c wn o
=
[=%
051=NQ ‘p1g "d- - 22e — 6859 — 1069 — 0LTSE
exfodid _cuowwwom + // €€ —  Ev'seE  — 0189  — 05°2ve
eyjlodyd _cvom\,w%om \ t 1\ Ve — 6T'59¢ — ¥5'89¢€ — €L°LEE
A o 002 NG .._ =B e —  €T99E  — 0589 — 05'9€€ —
NOGNOS “dO¥ “H LINFAO-POAGPOA / — _ _ e —  2Tsee — 17’89 — sz'see
o cwwww%_, t e —  0oT'seE  — w'g9e  — GE'Eee
o
©
X
]
"
e — €09 — Gzeee — 8928
051=NQ ‘126 "d"2 o €2¢ —  88%9E — 10898 — 05°TTE
"
eyfodid _cuo>0c>_a/ . . . .
ceNa [ NfAENS R \f B Y= oiee
eylodid JUPOAOPOA ¥ n N Y Z R A ) A7 -7 2 19c0¢
joqey ‘lgps : t Az 24— E I — el
051=Nd ‘90§ .ﬁm/_o T I GTE —  GLv9E  — 008 —© orsez
exfodid JUPOAOPOR + YTe —  wLv9E  — 8098  — se'162
= e —  0Lv9E  — 11298 — 00'€62
051=NQ ‘gz "d"o - Te —  99%9E  — 89298  — 0v'682
STE —  ZSY9E  — 1579 — szsLe
051=NQ ‘Z¢5'd"2 fom aTe —  9rveE  — 2519 — 00692
o
n
P
n
N
~
E=
8T —  GEY9E — evi9e  — 00852 [
5
o
o
o
o
(9]
e — - bl g — 00'6¥C
N ’ ve'e 92’79 ovr'29g
joqex | 0ze —  0ZvE  — 0£298 — 1822
POAOPOA
05 Ng t 8T —  /Tv9E — GzL98 — 9,°652
ponou _Z _ 1T YT 79E 12298 v 82
=N ‘025 A2 ot + L At jpe AL : AL . A (57
084N0 025 _ : B OHE Y OEE = S (8| |4
o o
N '
' ©
o <
S 3
o <
— —
glg
1
= (32]
00¢ —  €0Y9E — €699  — 00922
»\& X ’|4 = oLz —  88€9E  — 8y'99e — 00'TTZ
uomw:_w__oa _ t _ 697 —  98'€9E — S99 — 08'802
I _ 89 —  v8'€9E — Zro9e — 00202
0S1=NQ ‘68/.98 ‘zod D = _ _ 897 —  28€9E — or'99e — 09'502
exfodyd ._%owwwom , + 897 —  18€9E — 8e'99e  — 00702
jeqe "Igp: 197 —  8LeE — se99e  —J N swo0e
2€ NQ _ . . . O ..
exfodjid JupoAOpOA T 19C — GL'E9E  — 2€'99¢ — SS'86T
4 v97 —  2989E — oT'99e — 00°'58T
T = €97 —  ShegEe  — 86'59¢  — 00'89T
0S1=NQ ‘28/,98 ‘zod D = , / 297 —  Te€9E — £8'59e  — 05'vST
mv__oet._%owwkvm _ + _ 297 —  8zgE  — 0g'soe — TE'TST
jeqe "Iop: 197 —  lT€9%E — 8169  — vS6VT
2€NQ — ’ —
eylodiid 1JupoAOpOA 19¢C — €2€9e  — .°'59¢€ — 00°9¥T
051=NQ ‘2.¥'d2 /_ ] 192 — 2Zg9E — 21998 — S9YPT
I | 09'¢ G¢ €9 67598 00°EVT
Gz Na 00e S gogse F  0rgeE A== ot
exfodid JUPOAGUA 09¢ =  6IEE = 69'G9¢ aag
o
S
oy [0
86z —  2UgE  — 09'59€ vv g ooser
o
—
=
o
o
e}
<@
o
(a8} o
=
= =
o = o
O o E @
— ~ M w5
Y= o x Q2
o S — =
o _ ;
o Te) ) a £ a< x>
o — ' 24
~— (@] _Dln =3 oy m '
> o) X - L E —
cC @) = > % z X, E< 2
e L > L _ 5 S =
a o < 4 z ST <
N o)) _H E m m E % 2 = =
o Q z (@]
9 o < o) < < Z O E <
O LU = o = = < O =
(a N S O = O O = ¥ Z <
4 T ~ ~ %) »w ax




